# REGULARITY PROPERTIES OF SOLUTIONS OF LINEAR INTEGRODIFFERENTIAL EQUATIONS WITH SINGULAR KERNELS 

## HANS ENGLER

Dedicated to John A. Nohel for his sixty-fifth birthday

1. Introduction. Let $\mathbf{H}$ be a Hilbert space with norm $|\cdot|$ and inner product $\langle\cdot, \cdot\rangle$. Let $A$ be a possibly unbounded linear operator in $\mathbf{H}$, and let $a:[0, \infty) \rightarrow \mathbf{R}$ be a given locally integrable kernel function. In this note we study properties of solutions of the abstract linear integrodifferential equation

$$
\begin{equation*}
u^{\prime}(t)+a * A u(t)=0, \quad 0<t<T \tag{1}
\end{equation*}
$$

in $\mathbf{H}$. Here the usual convolution notation is employed: $f * g(t)=$ $\int_{0}^{t} f(t-s) g(s) d s$, if one of the two functions is scalar-valued and the other one is vector-valued.

We want to consider mild solutions of (1), i.e., continuous functions $u(\cdot)$ for which $1 * a * u(t) \in D(A)$ for all $0 \leq t \leq T$ and for which the integrated version

$$
\begin{equation*}
u(t)+A(1 * a * u(t))=u(0) \tag{2}
\end{equation*}
$$

of (1) holds for all $t \in[0, T]$. The goal of this note is to give conditions on the kernel function $a$ under which such mild solutions satisfy an estimate of the form

$$
|A u(t)| \leq \frac{C}{t^{M}}|u(0)|
$$

for a suitable power $M$. It will be proved that such an estimate is always true if the derivative $a^{\prime}$ is integrable and behaves like $-t^{-2 \alpha}$ near zero, and that in this case $M=1 / \alpha$ is a suitable exponent.

The following assumptions will be used. The assumptions for the kernel function $a(\cdot)$ are to hold on any finite interval $[0, T]$. A subscript $T$ denotes that the corresponding quantity depends on $T$.

[^0](A) The operator $A$ is densely defined, self adjoint, and there exists $\Lambda>0$ such that $\langle A x, x\rangle \geq \Lambda|x|^{2}$ for all $x \in D(A)$.
(a1) The kernel $a(\cdot)$ satisfies
\[

$$
\begin{gathered}
a(0)=1 \\
a^{\prime} \in L^{1}(0, T ; \mathbf{R}), \quad \int_{0}^{T} t\left|a^{\prime \prime}(t)\right| d t<\infty \\
a^{\prime \prime}(\cdot) \geq-c_{T}(\cdot) \quad \text { with } c_{T} \in L^{1}(0, T ; \mathbf{R}) .
\end{gathered}
$$
\]

(a2) There exist $\delta>0$ and $\alpha \in(0,1 / 2)$ such that

$$
\begin{gather*}
a^{\prime \prime}(t) \geq \delta t^{-1-2 \alpha}-c_{T}(t) \quad \text { with } c_{T} \in L^{1}(0, T ; \mathbf{R})  \tag{3}\\
\int_{0}^{T} t^{3}\left|a^{(4)}(t)\right| d t<\infty \tag{4}
\end{gather*}
$$

It is known that operators satisfying (A) have a spectral decomposition

$$
A x=\int_{\Lambda}^{\infty} \lambda d E_{\lambda} x
$$

for all $x \in D(A)[\mathbf{8}]$. Then fractional powers of $A$ can be defined in the usual way,

$$
A^{\beta} x=\int_{\Lambda}^{\infty} \lambda^{\beta} d E_{\lambda} x
$$

for $-\infty<\beta<\infty$ and for $x$ from a suitable maximal domain of definition. Also, property (3) forces $a^{\prime}$ to have an integrable singularity at the origin that is at least algebraic: $a^{\prime}(t) \leq-\delta_{1} t^{-2 \alpha}+C_{T}$ for some $\delta_{1}>0$.

The two main results of this paper are the following:

THEOREM 1. Let assumptions (A) and (a1) hold. Then, for any $u_{0} \in \mathbf{H}$, there exists a unique mild solution of (2) with $u(0)=u_{0}$. It can be obtained as $u(t)=R(t) u_{0}$, where $(R(t))_{0 \leq t \leq T}$ is a strongly continuous operator family in $L(\mathbf{H}, \mathbf{H})$. Moreover, the operator families $A^{-1} R^{\prime \prime}(\cdot), A^{-\frac{1}{2}} R^{\prime}(\cdot), A^{\frac{1}{2}}(1 * R)(\cdot)$ and $A(1 * 1 * R)(\cdot)$ are also strongly continuous on $[0, T]$.

THEOREM 2. Let assumptions (A), (a1) and (a2) hold, and let $0 \leq \beta \leq 1,0 \leq \gamma \leq 1 / 2$. Then $A^{\beta} R(\cdot)$ and $A^{\gamma+1 / 2}(1 * R)(\cdot)$ are strongly continuous families of bounded operators on $(0, T]$, and the estimates

$$
\begin{gather*}
\left\|A^{\beta} R(t)\right\| \leq C_{T} t^{-\frac{\beta}{\alpha}}  \tag{5}\\
\left\|A^{\frac{1}{2}+\gamma}(1 * R)(t)\right\| \leq C_{T} t^{-\frac{\gamma}{\alpha}} \tag{6}
\end{gather*}
$$

hold.

Theorem 1 has a natural and well-known consequence for the inhomogeneous equation

$$
\begin{equation*}
u^{\prime}(t)+a * A u(t)=f(t) \tag{7}
\end{equation*}
$$

In analogy to the definition above, we call a continuous function $u:[0, T] \rightarrow \mathbf{H}$ a mild solution of (7) if $1 * a * u(t) \in D(A)$ for all $t \in[0, T]$ and if the integrated equation

$$
\begin{equation*}
u(t)+A(1 * a * u(t))=u(0)+\int_{0}^{t} f(s) d s \tag{8}
\end{equation*}
$$

holds for all $t$.

Corollary 1. For any $f \in L^{1}(0, T ; \mathbf{H}), u_{0} \in \mathbf{H}$ there exists a unique solution of (8) with $u(0)=u_{0}$. It is given by

$$
u(t)=R(t) u_{0}=\int_{0}^{t} R(t-s) f(s) d s, \quad 0 \leq t \leq T
$$

Theorem 2 implies estimates in various intermediate regularity classes which we give next.

Corollary 2. Under the assumptions of Theorem 2 , let $0<\beta<1$, $1<p<\infty, r=\beta / \alpha$. Then

$$
\begin{equation*}
\int_{0}^{T} t^{r p}\left\|A^{\beta} R(t)\right\|^{p} \frac{d t}{t} \leq C(T, p, r) \tag{9}
\end{equation*}
$$

and, if $0 \leq \beta<1 / 2$, then

$$
\begin{equation*}
\int_{0}^{T} t^{r p}\left\|A^{\beta+\frac{1}{2}}(1 * R)(t)\right\|^{p} \frac{d t}{t} \leq C(T, p, r) \tag{10}
\end{equation*}
$$

There exist several results like Theorem 1 in the literature, see, e.g., $[\mathbf{2}, \mathbf{3}, \mathbf{4}, \mathbf{1 2}]$. The new features in the result given here are the weakened assumptions on the kernel function. The main reason for stating Theorem 1 is to give a framework for Theorem 2, which seems to be new in this form. Other results concerning regularizing effects of the resolvent family $R(\cdot)$ have been given for classes of kernels with either stronger or weaker singularities. In [5] and [9], the kernel $a$ itself is assumed to have a singularity at the origin, and the resolvent family is shown to possess an analytic extension into some sector in the complex plane that contains the positive real axis. These arguments use the Laplace transform and a suitable deformation of the integration path in the inversion formula, much as in the classical argument for the construction of analytic semigroups $[\mathbf{1 1}]$. In $[\mathbf{6}, \mathbf{7}, \mathbf{1 0}, \mathbf{1 3}]$ kernels are considered for which (3) holds with $\alpha=0$, i.e., $a^{\prime}(\cdot)$ has a logarithmic singularity at the origin. In this case, $A^{\beta} R(t)$ becomes a bounded operator for $t>\beta t_{0}$, where $t_{0}>0$. These results can be proved with a variety of techniques, e.g., again by deforming an integration path in the complex inversion formula [13], by casting the problem in an abstract semigroup framework and appealing to a general result on differentiability of semigroups [6], or by explicitly computing the resolvent in a model problem $[\mathbf{7}, \mathbf{1 0}]$. Some explicit examples in $[\mathbf{1 0}]$ show that this "delayed" regularization property in the case $\alpha=0$ is sharp.

We shall construct the solution of Theorem 1 as

$$
u(t)=\int_{\Lambda}^{\infty} u_{\lambda}(t) d E_{\lambda} u_{0}
$$

where the scalar functions $u_{\lambda}$ are solutions of the equations

$$
\begin{equation*}
u_{\lambda}^{\prime}(t)+\lambda a * u_{\lambda}(t)=0, \quad u_{\lambda}(0)=1 \tag{11}
\end{equation*}
$$

To do this, suitable a priori estimates have to be derived, which are listed in Lemma 1 in the next section. The remainder of the next section
is concerned with deriving additional estimates from which Theorem 2 follows. The main tool then is simply the variation-of-constants formula for solutions of inhomogeneous equations associated with (11) which is employed in a "bootstrap" fashion. One advantage of this approach is that the sign conditions and regularity assumptions for the kernel can be kept to a minimum. The two main results together with the Corollaries are then proved in Section 3.
We use the usual notation of Sobolev spaces and refer the reader to [1] for the necessary background material. In particular, fractional order Sobolev spaces $W^{s, 2}(I)$ of scalar functions on intervals $I$ will be used. Their definition and properties are also listed in [1]. Constants that may change from line to line are denoted by the same letter, $C$; they are allowed to depend on $T, a(\cdot)$ and its properties, and other parameters, but not on the parameter $\lambda>\Lambda$ that is used in (11). We also write

$$
d_{j}^{k}(t)=t^{j} d^{(k)}(t)
$$

whenever $d(\cdot)$ is a function for which the $k$-th derivative is defined.
2. A priori estimates for scalar equations. In this section we study solutions of the scalar equations (11) in more detail. The goal is to collect estimates that display the dependence on $\lambda$ in detail. A standard contraction argument shows that solutions $u_{\lambda}$ exist and are unique on any time interval $[0, T]$ and that they will be in $C^{2}([0, T])$. From now on, $T$ will be arbitrary and fixed. We set $v_{\lambda}=1 * u_{\lambda}$.

LEMMA 1. Let a satisfy assumptions (a1). Then, for any solution $u_{\lambda}$ of (11) and for all $0 \leq t \leq T<\infty$,
(12) $\lambda^{-1}\left|u_{\lambda}^{\prime \prime}(t)\right|+\lambda^{-1 / 2}\left|u_{\lambda}^{\prime}(t)\right|+\left|u_{\lambda}(t)\right|+\lambda^{1 / 2}\left|v_{\lambda}(t)\right|+\lambda\left|1 * v_{\lambda}(t)\right| \leq C_{T}$.

If a also satisfies (a2), then, additionally,

$$
\begin{equation*}
\int_{0}^{T} \int_{0}^{T}\left(\frac{\left|u_{\lambda}(t)-u_{\lambda}(s)\right|^{2}}{|t-s|^{1+2 \alpha}}+\lambda \frac{\left|v_{\lambda}(t)-v_{\lambda}(s)\right|^{2}}{|t-s|^{1+2 \alpha}}\right) d s d t \leq C_{T} \tag{13}
\end{equation*}
$$

Proof. Equation (11) can be written in the equivalent form

$$
u_{\lambda}^{\prime}(t)+\lambda\left(\int_{0}^{t} a^{\prime}(t-s)\left(v_{\lambda}(s)-v_{\lambda}(t)\right) d s+a(t) v_{\lambda}(t)\right)=0
$$

Multiply with $u_{\lambda}(t)$ and integrate. After some manipulations, the result is

$$
\begin{align*}
\left|u_{\lambda}(t)\right|^{2} & -1+\lambda\left|v_{\lambda}(t)\right|^{2} \\
& -\lambda \int_{0}^{t} a^{\prime}(t-s)\left(\left|v_{\lambda}(t-s)\right|^{2}+\left|v_{\lambda}(s)\right|^{2}-2 v_{\lambda}(t) v_{\lambda}(s)\right) d s  \tag{14}\\
& +\lambda \int_{0}^{t} \int_{0}^{s} a^{\prime \prime}(s-\tau)\left|v_{\lambda}(s)-v_{\lambda}(\tau)\right|^{2} d \tau d s=0
\end{align*}
$$

Note that, due to the smoothness of $v_{\lambda}$, the integral involving $a^{\prime \prime}$ is convergent. Since $a^{\prime \prime}$ is bounded below by an integrable function, (14) implies that for some $m \in L^{1}(0, T ; \mathbf{R})$

$$
\begin{equation*}
\left|u_{\lambda}(t)\right|^{2}+\lambda\left|v_{\lambda}(t)\right|^{2} \leq C+\lambda \int_{0}^{t}(m(t-s)+m(s))\left|v_{\lambda}(s)\right|^{2} d s \tag{15}
\end{equation*}
$$

Gronwall's lemma now implies the bound for the third and fourth term on the left-hand side of estimate (12). The last term on the left-hand side of (12) can be estimated since, by (11), $1 * v_{\lambda}+a^{\prime} * 1 * v_{\lambda}=$ $\lambda^{-1}\left(1-u_{\lambda}\right)$. Similarly, using equation (11) and its derivative, the other two terms can be estimated.

To prove (13), we use (14) again and note that, by the preceding argument, all terms in (14) except the double integral involving $a^{\prime \prime}$ are now estimated independent of $\lambda$. Now use the assumption that, up to an integrable function, $a^{\prime \prime}(t) \geq \delta t^{-1-2 \alpha}$. This implies that the second term on the left-hand side of (13) can be estimated as stated. To estimate also the other term, we differentiate (11), multiply the result with $\lambda^{-1} u_{\lambda}(t)$ and integrate once. The result is the identity

$$
\begin{align*}
& \frac{1}{\lambda}\left|u_{\lambda}^{\prime}(t)\right|^{2}+\int_{0}^{t} \int_{0}^{s} a^{\prime \prime}(t-s)\left|u_{\lambda}(s)-u_{\lambda}(\tau)\right|^{2} d \tau d s  \tag{16}\\
& \quad=1+a(t)\left|u_{\lambda}(t)\right|^{2}+\int_{0}^{t}\left(a^{\prime}(t-s)\left|u_{\lambda}(t)-u_{\lambda}(s)\right|^{2}+a^{\prime}(s)\left|u_{\lambda}(s)\right|^{2}\right) d s
\end{align*}
$$

Since the right-hand side can be estimated uniformly in $\lambda$, the same argument as before shows that also the first term in (13) can be estimated as claimed. $\square$

LEMMA 2. If assumptions (a1) and (a2) hold, then, for any solution of (11),

$$
\begin{equation*}
\lambda^{2 \alpha} \int_{0}^{T}\left|u_{\lambda}(t)\right|^{2} d t \leq C_{T} \tag{17}
\end{equation*}
$$

Proof. Estimate (13) implies that

$$
\begin{align*}
\left\|v_{\lambda}\right\|_{\alpha} & \leq C_{T} \lambda^{-1 / 2} \\
\left\|v_{\lambda}\right\|_{1+\alpha} & \leq C_{T} \tag{18}
\end{align*}
$$

where $\|\cdot\|_{s}$ is a norm on the fractional order Sobolev space $W^{s, 2}([0, T], \mathbf{R})$ [1]. Since these are complex interpolation spaces, a standard interpolation inequality now implies that

$$
\left\|u_{\lambda}\right\|_{0} \leq\left\|v_{\lambda}\right\|_{1} \leq C\left\|v_{\lambda}\right\|_{\alpha}^{\alpha}\left\|v_{\lambda}\right\|_{1+\alpha}^{1-\alpha} \leq C \lambda^{-\alpha}
$$

This is the desired estimate.

Lemmata 1 and 2 provide all a priori estimates that will be needed for the proofs. The rest of this section will be concerned with deriving related estimates for functions of the form $t^{l} u_{\lambda}(t)$, using the variation-of-constants formula. We therefore write

$$
u_{\lambda, l}(t)=t^{l} u_{\lambda}(t), \quad v_{\lambda, l}(t)=t^{l} v_{\lambda}(t)
$$

for $0 \leq t \leq T, \lambda \geq \Lambda, l=0,1,2, \ldots$. We also set

$$
w_{\lambda, l}(t)=t^{l}\left(u_{\lambda} * u_{\lambda}\right)(t)
$$

and set $w_{\lambda,-1}(t)=0$ for all $t$ by convention.

LEMMA 3. Suppose a satisfies (a1) and (a2) and $u_{\lambda}$ solves (11). Then, for all $l=0,1,2, \ldots$, and $0 \leq t \leq T$,

$$
\begin{align*}
& w_{\lambda, l}(t)=\sum_{i=0}^{l}\binom{l}{i} u_{\lambda, i} * u_{\lambda, l-i}(t)  \tag{19}\\
& \left|\int_{0}^{t}(t-s) u_{\lambda, l}(s) d s\right| \leq C(l, T) \lambda^{-1}  \tag{20}\\
& \left|\left(1 * u_{\lambda, l}\right)(t)-v_{\lambda, l}(t)\right| \leq C(l, T) \lambda^{-1} \tag{21}
\end{align*}
$$

Proof. Equation (19) (which reduces to the Leibniz rule for derivatives of products after taking the Fourier transform) is proved by a standard induction argument.

Estimate (20) also follows by induction: For $l=0$, the estimate is contained in Lemma 1. For the step from $l$ to $l+1$ we write

$$
\begin{aligned}
\int_{0}^{t}(t-s) u_{\lambda, l+1}(s) d s= & -2 \int_{0}^{t} \int_{0}^{s}(s-\tau) u_{\lambda, l}(\tau) d \tau d s \\
& +t \cdot \int_{0}^{t}(t-s) u_{\lambda, l}(s) d s
\end{aligned}
$$

and this term is bounded by $C \lambda^{-1}$ by the induction assumption.
The proof of (21) also uses induction. For $l=0$, nothing has to be shown. For the step from $l$ to $l+1$, we write

$$
\begin{aligned}
\left(1 * u_{\lambda, l+1}\right)(t)-v_{\lambda, l+1}(t)= & -\int_{0}^{t}(t-s) u_{\lambda, l}(s) d s \\
& +t\left(\int_{0}^{t} u_{\lambda, l}(s) d s-v_{\lambda, l}(t)\right)
\end{aligned}
$$

and by (20) and the induction assumption, both terms on the righthand side are bounded by $C \lambda^{-1}$. ㅁ

Next an auxiliary kernel is introduced which can be shown to have the same regularity properties as $a_{1}^{1}$. Let $k:[0, T] \rightarrow \mathbf{R}$ be the resolvent
kernel associated with $a^{\prime}$, i.e., the $L^{1}$-function with the equivalent properties

$$
\begin{align*}
a^{\prime}(t)+k * a^{\prime}(t)+k(t)=0, & \text { for a.e. } t \in[0, T]  \tag{22}\\
a(t)+k * a(t)=1, & \text { for all } t \in[0, T] \tag{23}
\end{align*}
$$

We set

$$
\begin{equation*}
b(t)=1+a_{1}^{1}(t)+k * a_{1}^{1}(t)=1+t a^{\prime}(t)+\int_{0}^{t} k(t-s) s a^{\prime}(s) d s \tag{24}
\end{equation*}
$$

LEmma 4. The kernel b has the properties

$$
\begin{gather*}
t \cdot a(t)=b * a(t), \quad \text { for all } t \in[0, T]  \tag{25}\\
a_{2}^{1} \in W^{2,1}([0, T], \mathbf{R}) \Longrightarrow b_{1} \in W^{2,1}([0, T], \mathbf{R})  \tag{26}\\
a_{3}^{1} \in W^{3,1}([0, T], \mathbf{R}) \Longrightarrow b_{2} \in W^{3,1}([0, T], \mathbf{R}) \tag{27}
\end{gather*}
$$

Proof. We have

$$
\begin{aligned}
b=1+a_{1}^{1} & +k * a_{1}^{1}=a+a_{1}^{1}+k *\left(a+a_{1}^{1}\right) \\
& \Longrightarrow b+a^{\prime} * b=a+a_{1}^{1} \\
& \Longrightarrow \frac{d}{d t}(b * a)=\frac{d}{d t} a_{1}^{1}
\end{aligned}
$$

This proves (25). To prove (26) and (27), we first compute $k_{1}(t)=t k(t)$ and $k_{2}(t)=t^{2} k(t)$. Multiplying (22) with $t$ implies

$$
a_{1}^{1}+k_{1} * a^{\prime}+k * a_{1}^{1}+k_{1}=0
$$

and thus

$$
k_{1}=-a_{1}^{1}-k * a_{1}^{1}-k *\left(a_{1}^{1}+k * a_{1}^{1}\right)=-\left(a_{1}^{1}+2 k * a_{1}^{1}+k * k * a_{1}^{1}\right)
$$

Multiplying again with $t$ one obtains, after some manipulations,
$k_{2}=-a_{2}^{1}-2 k * a_{2}^{1}-k * k * a_{2}^{1}+2\left(a_{1}^{1}+2 k * a_{1}^{1}+k * k * a_{1}^{1}\right) *\left(a_{1}^{1}+k * a_{1}^{1}\right)$.

Thus, $k_{i}$ is as regular as $a_{i}^{1}$ for $i=1,2$. Now

$$
\begin{equation*}
b_{1}^{1}(t)=t+a_{2}^{1}(t)+k_{1} * a_{1}^{1}(t)+k * a_{2}^{1}(t) \tag{28}
\end{equation*}
$$

and

$$
\begin{equation*}
b_{2}(t)=t^{2}+a_{3}^{1}(t)+\sum_{i=0}^{2}\binom{2}{i} k_{i} * a_{i+1}^{1}(t) . \tag{29}
\end{equation*}
$$

From (28) we read off that $b_{1} \in W^{2,1}([0, T], \mathbf{R})$ if $a_{2}^{1}$ is in this class, which proves (26). To prove (27), we note that the convolution products involving $k_{1}$ and $k_{2}$ will be in $W^{3,1}([0, T], \mathbf{R})$ as soon as $a_{2}^{1} \in W^{2,1}([0, T], \mathbf{R})$ and that the other terms will be as regular as $a_{3}^{1}$. Since assumption (a2) implies in particular that $a_{3}^{1} \in W^{3,1}([0, T], \mathbf{R})$, property (27) follows.

Lemma 5. If assumptions (a1) and (a2) hold, then, for all $t \in[0, T]$, $\lambda>\Lambda, l=1,2,3, \ldots$,

$$
\begin{align*}
& u_{\lambda, l}(t)+b * u_{\lambda, l-1}(t)  \tag{30}\\
& \quad=2 w_{\lambda, l-1}(t)+b^{\prime} * w_{\lambda, l-1}(t)+(l-1) b_{1}^{1} * w_{\lambda, l-2}(t)+f_{\lambda, l}(t),
\end{align*}
$$

where $\left|f_{\lambda, l}(t)\right| \leq C(l, T) \lambda^{-1}$.

Proof. The proof uses induction. For $l=1$, one computes

$$
\begin{aligned}
u_{\lambda, 1}^{\prime}(t) & =u_{\lambda}(t)+t u_{\lambda}^{\prime}(t) \\
& =u_{\lambda}(t)-\lambda a_{1} * u_{\lambda}(t)-\lambda a * u_{\lambda, 1}(t) .
\end{aligned}
$$

By Lemma 4,

$$
\begin{aligned}
\lambda a_{1} * u_{\lambda} & =\lambda b * a * u_{\lambda} \\
& =-b * u_{\lambda}^{\prime} \\
& =-u_{\lambda}+b-b^{\prime} * u_{\lambda} .
\end{aligned}
$$

Thus, $u_{\lambda, 1}$ solves the equation

$$
u_{\lambda, 1}^{\prime}+\lambda a * u_{\lambda, 1}=2 u_{\lambda}+b^{\prime} * u_{\lambda}-b .
$$

Applying the variation-of-constants formula gives (30) for $l=1$.

The induction step from $l$ to $l+1$ is a straightforward calculation. One only has to show that the remainder term $f_{\lambda, l+1}$ can be estimated as stated.

$$
\begin{aligned}
u_{\lambda, l+1}(t)+ & b * u_{\lambda, l}(t) \\
= & t\left(u_{\lambda, l}(t)+b * u_{\lambda, l-1}(t)\right)-b_{1} * u_{\lambda, l}(t) \\
= & t\left(2 w_{\lambda, l-1}(t)+b^{\prime} * w_{\lambda, l-1}(t)+(l-1) b_{1}^{1} * w_{\lambda, l-2}(t)\right. \\
& \left.+f_{\lambda, l}(t)\right)-b_{1} * u_{\lambda, l}(t) \\
= & 2 w_{\lambda, l}(t)+b^{\prime} * w_{\lambda, l}(t)+l b_{1}^{1} * w_{\lambda, l-1}(t)+f_{\lambda, l+1}(t)
\end{aligned}
$$

with $f_{\lambda, l+1}(t)=(l-1) b_{2}^{1} * w_{\lambda, l-1}(t)+t f_{\lambda, l}(t)-b_{1} * u_{\lambda, l}(t)$. By Lemma $4, b_{2}^{1}$ and $b_{1}$ are in $W^{2,1}([0, T], \mathbf{R})$ and vanish for $t=0$. Therefore, by Lemma 3, the two convolution integrals, and thus also $f_{\lambda, l+1}(t)$ can be estimated by $C \lambda^{-1}$. The lemma follows.

LEMMA 6. If assumptions (a1) and (a2) hold, then for $0<t \leq T$, $0 \leq r \leq 1 / \alpha, \lambda \geq \Lambda$,

$$
\begin{equation*}
\left|u_{\lambda}(t)\right| \leq C t^{-r} \lambda^{-r \alpha} \tag{31}
\end{equation*}
$$

and for $0 \leq r \leq 1 /(2 \alpha)$,

$$
\begin{equation*}
\left|v_{\lambda}(t)\right| \leq C t^{-r} \lambda^{-r \alpha-\frac{1}{2}} \tag{32}
\end{equation*}
$$

Here $C$ depends on $r, a, T$, but not on $\lambda$.

Proof. We use induction on $n$ to prove first (31) and then (32) for all $r \leq n \leq 1 / \alpha$, respectively, for all $r \leq n \leq 1 /(2 \alpha)$, and then give a concluding argument in the case where $1 / \alpha$ is not an integer. We start with the estimate for $u_{\lambda}$ for $r=n=1$. By Lemma 5,

$$
t u_{\lambda}(t)=-b * u_{\lambda}(t)+2 u_{\lambda} * u_{\lambda}(t)+b^{\prime} * u_{\lambda} * u_{\lambda}(t)
$$

The terms on the right-hand side can be estimated for each $t$ as follows:

$$
\left|b * u_{\lambda}(t)\right|=\left|v_{\lambda}(t)+b^{\prime} * v_{\lambda}(t)\right| \leq C \lambda^{-1 / 2} \leq C \lambda^{-\alpha}
$$

by Lemma 1 ;

$$
\begin{equation*}
\left|u_{\lambda} * u_{\lambda}(t)\right| \leq\left\|u_{\lambda}\right\|_{L^{2}}^{2} \leq C \lambda^{-\alpha} \tag{33}
\end{equation*}
$$

by Hölder's inequality and Lemma 2; and

$$
\left|b^{\prime} * u_{\lambda} * u_{\lambda}(t)\right| \leq C \lambda^{-\alpha}
$$

by (33). These estimates prove (31) for $r=1$. Since (31) is also true for $r=0$, we obtain (31) for all $0 \leq r \leq 1$.

We next show (32), first for $r=1 / 2$ and then for $r=1$. One computes

$$
t v_{\lambda}(t)=1 * 1 * u_{\lambda}(t)+1 * b * u_{\lambda}(t)-2 v_{\lambda} * u_{\lambda}(t)-2 b^{\prime} * v_{\lambda} * u_{\lambda}(t)
$$

due to Lemma 5. The first two terms can be estimated by $C \lambda^{-1}$. The other two terms can be estimated by

$$
\begin{equation*}
\left|2 v_{\lambda} * u_{\lambda}(t)+2 b^{\prime} * v_{\lambda} * u_{\lambda}(t)\right| \leq 2 t^{\frac{1}{2}}\left\|v_{\lambda}\right\|_{L^{\infty}}\left\|u_{\lambda}\right\|_{L^{2}} \leq C t^{\frac{1}{2}} \lambda^{-\frac{\alpha+1}{2}} \tag{34}
\end{equation*}
$$

by Lemma 3 and Hölder's inequality. Thus $\left|v_{\lambda}(t)\right| \leq C t^{-1 / 2} \lambda^{-(\alpha+1) / 2}$. Repeating the estimate (34) and using (31) with $r=1 / 2$ now also gives

$$
\left|2 v_{\lambda} * u_{\lambda}(t)+2 b^{\prime} * v_{\lambda} * u_{\lambda}(t)\right| \leq C \lambda^{-\alpha-\frac{1}{2}}
$$

This proves (32) also for $r=1$. As before, since the estimate is also true for $r=0$, we then obtain it for all $r \in[0,1]$.

For the induction step, suppose that (31) and (32) are true for $0 \leq r \leq n \leq 1 /(2 \alpha)-1$. By Lemma 5 and Lemma 3,

$$
\begin{align*}
t^{n+1} u_{\lambda}(t)= & -v_{\lambda, n}(t)-b^{\prime} * v_{\lambda, n}(t)+2 w_{\lambda, n}(t) \\
& +b^{\prime} * w_{\lambda, n}(t)+n b_{1}^{1} * w_{\lambda, n-1}(t)+g_{\lambda, n}(t) \tag{35}
\end{align*}
$$

where $\left|g_{\lambda, n}(t)\right| \leq C \lambda^{-1}$. We first show (31) for $r=n+1 / 2$ and then for $r=n+1$. The terms on the left-hand side of (35) can be estimated as follows:

$$
\left|v_{\lambda, n}(t)+b^{\prime} * v_{\lambda, n}(t)\right| \leq C t^{-n} \lambda^{-n \alpha-\frac{1}{2}} \leq C t^{-n} \lambda^{-(n+1) \alpha}
$$

by induction assumption;

$$
\begin{align*}
\left|w_{\lambda, n}(t)\right| & \left.\leq \sum_{i=0}^{n}\binom{n}{i} u_{\lambda, i} * u_{\lambda, n-i}(t) \right\rvert\,  \tag{36}\\
& \leq C t^{\frac{1}{2}} \lambda^{-\left(n+\frac{1}{2}\right) \alpha}
\end{align*}
$$

due to the estimates

$$
\begin{equation*}
\left|u_{\lambda, j}(t)\right| \leq C t^{-\frac{1}{2}} \lambda^{-\left(j+\frac{1}{2}\right) \alpha} \tag{37}
\end{equation*}
$$

for $j=0, \ldots, n-1$, and

$$
\begin{equation*}
\left|u_{\lambda, n}(t)\right| \leq C \lambda^{-n \alpha} \tag{38}
\end{equation*}
$$

Thus, also

$$
\begin{equation*}
\left|b^{\prime} * w_{\lambda, n}(t)\right| \leq C t^{\frac{1}{2}} \lambda^{-\left(n+\frac{1}{2}\right) \alpha} \tag{39}
\end{equation*}
$$

The terms involving $w_{\lambda, n-1}$ can be written as

$$
b_{1}^{1} * w_{\lambda, n-1}=\left(b^{\prime}+b_{1}^{2}\right) * \sum_{i=0}^{n-1} v_{\lambda, i} * u_{\lambda, n-1-i}+g_{\lambda, n-1}
$$

by Lemma 3 , where $\left|g_{\lambda, n-1}(t)\right| \leq C \lambda^{-1}$. Since $b^{\prime}, b_{1}^{2} \in L^{1}(0, T ; \mathbf{R})$, we only have to estimate each term in the sum pointwise:

$$
\left|v_{\lambda, i} * u_{\lambda, n-1-i}(t)\right| \leq C \lambda^{-n \alpha-\frac{1}{2}} \leq C \lambda^{-(n+1) \alpha}
$$

due to (37) and

$$
\begin{equation*}
\left|v_{\lambda, j}(t)\right| \leq C t^{-\frac{1}{2}} \lambda^{-\left(j+\frac{1}{2}\right) \alpha-\frac{1}{2}} \tag{40}
\end{equation*}
$$

for $j=0, \ldots, n-1$, by induction assumption. Put together, all these estimates prove (31) for $r=n+1 / 2$. This means that

$$
\begin{equation*}
\left|u_{\lambda, n}(t)\right| \leq C t^{-\frac{1}{2}} \lambda^{-\left(n+\frac{1}{2}\right) \alpha} \tag{41}
\end{equation*}
$$

Using (41) instead of (38) now implies that

$$
\left|w_{\lambda, n}(t)\right| \leq C \lambda^{-(n+1) \alpha}
$$

and this improved estimate implies (31) also for $r=n+1$. As before, estimate (31) then follows also for all $r \in[n, n+1]$.
We next show (32) for $r=n+1 / 2$ and $r=n+1$, still assuming that $n \leq 1 /(2 \alpha)-1$. The argument is essentially the same as in the
case $n=1$. First, according to Lemma 3 , we can replace $v_{\lambda, n+1}(t)$ by $1 * u_{\lambda, n+1}$ with an error that is bounded by $C \lambda^{-1}$. Next, by Lemma 5 ,

$$
\begin{align*}
1 * u_{\lambda, n+1}= & -b * v_{\lambda, n}+2 * w_{\lambda, n} \\
& +b^{\prime} * 1 * w_{\lambda, n}+n \cdot 1 * b_{1}^{1} * w_{\lambda, n-1}+1 * f_{\lambda, n+1} \tag{42}
\end{align*}
$$

Lemmata 1 and 4 imply that the first and the last two terms can be estimated by $C \lambda^{-1}$. The second term can be estimated by

$$
\begin{align*}
\left|2 * w_{\lambda, n}(t)\right| & \leq C \sum_{j=0}^{n}\left|v_{\lambda, j} * u_{\lambda, n-j}\right|(t)+C \lambda^{-1}  \tag{43}\\
& \leq C t^{\frac{1}{2}} \lambda^{-\frac{1}{2}-\left(n+\frac{1}{2}\right) \alpha}
\end{align*}
$$

Here (37) and (40) have been used for $j=0, \ldots, n$, except for the term involving $v_{\lambda, n}$, where we use the induction assumption. The same estimate holds for the third term in (42). This proves (32) for $r=n+1 / 2$ and implies in particular that

$$
\begin{equation*}
\left|v_{\lambda, n}(t)\right| \leq C t^{-\frac{1}{2}} \lambda^{-\frac{1}{2}-\left(n+\frac{1}{2}\right) \alpha} . \tag{44}
\end{equation*}
$$

Using (44) instead of the induction assumption allows us to improve (43) to

$$
\left|2 * w_{\lambda, n}(t)\right| \leq C \lambda^{-\frac{1}{2}-(n+1) \alpha}
$$

and to estimate the third term in (42) in the same way. Thus (32) is proved for $r=n+1$ and consequently for all $r \in[n, n+1]$.

There remain some additional cases, all of which can be handled by the same arguments. Estimate (32) is shown for the case $[1 /(2 \alpha)] \leq r \leq$ $1 /(2 \alpha)$ by an argument that is similar to the one in the induction step. If $1 /(2 \alpha)-1<n<1 / \alpha$, then only (31) has to be shown by induction, and the argument is identical to the one given above. Finally, (31) follows for the remaining range $[1 / \alpha]<r \leq 1 / \alpha$ as in the induction step. The Lemma is completely proved.

## 3. Proofs of the main results.

Proof of Theorem 1 and of Corollary 1. Let $u$ be a solution of (1) with $u(0)=0$. For $N \geq \Lambda, t \geq 0$, set $u^{N}(t)=E_{N} u(t)$, where
$E_{N}$ is the spectral measure of the set $[\Lambda, N]$. Then $u^{N}$ solves the same equation. Since the operator $A$ is bounded on the space $E_{N} \mathbf{H}$ in which this equation holds, we obtain $u^{N}=0$, due to a standard uniqueness argument for ordinary integral equations. Since $N$ is arbitrary, $u=0$ follows, which established uniqueness of mild solutions of (1) and (7).

To construct a solution of (1), suppose that $u_{0} \in \mathbf{H}$ is given. Set

$$
\begin{equation*}
u^{N}(t)=\int_{\Lambda}^{N} u_{\lambda}(t) d E_{\lambda} u_{0} \tag{45}
\end{equation*}
$$

for $N \geq \Lambda, 0 \leq t \leq T$. The $u^{N}$ are (classical) solutions of (1) with initial data $\overline{u^{N}}(0)=E_{N} u_{0}$. Then the estimates in Lemma 1 show that the functions $A^{-1}\left(u^{N}\right)^{\prime \prime}, A^{-\frac{1}{2}}\left(u^{N}\right)^{\prime}, u^{N}, A^{1 / 2}\left(1 * u^{N}\right)$, and $A\left(1 * 1 * u^{N}\right)$ all converge uniformly in $C([0, T], \mathbf{H})$ to continuous limit functions $A^{-1} u^{\prime \prime}$, $A^{-\frac{1}{2}} u^{\prime}, u, A^{1 / 2}(1 * u)$, and $A(1 * 1 * u)$, and $u$ is a mild solution of (1). This proves Theorem 1. Corollary 1 and the variation-of-constants formula follow by using the same construction.

Proof of Theorem 2. The estimates of Theorem 2 follow by using Lemma 6 in (45) and passing to the limit as $N \rightarrow \infty$. $\square$

For the proof of Corollary 2, we need a standard MARCINKIEWICZtype interpolation argument.

LEMMA 7. Let $f:[0, T] \rightarrow \mathbf{R}$ be measurable such that $\|f\|_{L^{\infty}} \leq C_{1}$ and $|f(t)| \leq C_{2} t^{-\gamma}$ for almost all $t$, for some $\gamma>0$. Then, for all $p$ with $1 \leq p<\infty$ and $1 / \gamma<p$,

$$
\int_{0}^{T}|f(t)|^{p} d t \leq \frac{C_{1}^{p-\frac{1}{\gamma}} C_{2}^{\frac{1}{\gamma}}}{p-\frac{1}{\gamma}}
$$

Proof. Let $\mu(s)=|\{t| | f(t) \mid>s\}|$ be the distribution function of $f$. The assumptions imply

$$
\mu(s)=0, \quad \text { for } s \geq C_{1}
$$

and

$$
s^{\frac{1}{\gamma}} \cdot \mu(s) \leq C_{2}^{\frac{1}{\gamma}}, \quad \text { for all } s
$$

Then

$$
\begin{aligned}
\int_{0}^{T}|f(t)|^{p} d t & =\int_{0}^{C_{1}} s^{p-1} \mu(s) d s \\
& \leq \int_{0}^{C_{1}} s^{p-1-\frac{1}{\gamma}} C_{2}^{\frac{1}{\gamma}} d s \\
& =\frac{C_{2}^{p-\frac{1}{\gamma}} C_{2}^{\frac{1}{\gamma}}}{p-\frac{1}{\gamma}} .
\end{aligned}
$$

Proof of Corollary 2. Let $p, \beta, r$ be given as in the assumptions. For given $\lambda$, we set $f(t)=t^{r-1 / p} u_{\lambda}(t)$ and $\gamma=1 / \alpha+1 / p-r$. By Lemma 6,

$$
|f(t)| \leq C \lambda^{-r \alpha} \text { and }|f(t)| \leq C \lambda^{-1} t^{-\gamma}
$$

Applying Lemma 7 then leads to the estimate

$$
\int_{0}^{T}|f(t)|^{p} d t \leq C \lambda^{-\beta}
$$

Using this estimate in (45) and passing to the limit as $N \rightarrow \infty$ implies the first half of the Corollary. The second half follows analogously.

## REFERENCES

1. R.A. Adams, Sobolev Spaces, Academic Press, New York, 1975.
2. R.W. Carr and K.B. Hannsgen, Resolvent formulas for a Volterra equation in Hilbert space, SIAM J. Math. Anal. 13 (1982), 453-483.
3. C.R. Dafermos, An abstract Volterra equation with applications to linear viscoelasticity, J. Differential Equations 7 (1970), 554-569.
4. G. Da Prato and M. Iannelli, Linear abstract integrodifferential equations of hyperbolic type in Hilbert spaces, Rend. Sem. Mat. Univ. Padova 62 (1980), 207-219.
5. G. Da Prato, M. Iannelli and E. Sinestrari, Regularity of solutions of a class of linear integrodifferential equations in Banach spaces, J. Integral Equations Appl. 8 (1985), 27-40.
6. W. Desch and R.C. Grimmer, Singular relaxation moduli and smoothing in three-dimensional viscoelasticity, Trans. Amer. Math. Soc. 314 (1989), 381-404.
7.     - Smoothing properties of linear Volterra integrodifferential equations, SIAM J. Math. Anal. 20 (1989), 116-132.
8. N. Dunford and J.T. Schwartz, Linear operators, Wiley, New York, 1963.
9. R.C. Grimmer and A.J. Pritchard, Analytic resolvent operators for integral equations in Banach space, J. Differential Equations 50 (1983), 234-259.
10. W.J. Hrusa and M. Renardy, On wave propagation in linear viscoelasticity, Quart. Appl. Math. 43 (1985), 237-254.
11. A. Pazy, Semigroups of linear operators and applications to linear partial differential equations, Springer, Berlin, New York, 1983.
12. J. Prüss, Positivity and regularity of hyperbolic Volterra equations in Banach spaces, Math. Ann. 279 (1987), 317-344.
13. -, Regularity and integrability of resolvents of linear Volterra equations, in Volterra integrodifferential equations in Banach spaces and applications, Longman, Harlow, Essex, 1989, 339-367.

Department of Mathematics, Georgetown University, Washington, D.C. 20057


[^0]:    Supported by the National Science Foundation under grant \#DMS-8805192
    Copyright © 1990 Rocky Mountain Mathematics Consortium

